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1. The newness of public administra-

tion is its emphasis on :

(1) values

(2) dynamics

(3) new structures

(4) new functions

Choose the correct code :

(A) only (1)

(B) (1) and (2)

(C) (2) and (3)

(D) (3) and (4)

2. Who of the following made

distinction between public and

private administration ?

(A) L. Urwick

(B) Henry Fayol

(C) M.P. Follet

(D) Herbert Simon

1. yksdiz'kklukrhy ufoui.kk ;koj Hkj nsrs %

(1) eqY;s

(2) xfrekurk

(3) ufou lajpuk

(4) ufou dk;sZ

;ksX; i;kZ; fuoMk %

(A) QDr (1)

(B) (1) vkf.k (2)

(C) (2) vkf.k (3)

(D) (3) vkf.k (4)

2. [kkyhyiSdh dks.kh yksdiz'kklu vkf.k [kktxh

iz'kklukr Hksn dsyk \

(A) ,y- mfoZd

(B) gsUjh Qs;kWy

(C) ,e-ih- QkWysV

(D) gcZVZ lk;eu

Public Administration
Paper III

yksdiz'kklu
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Time Allowed : 2½ Hours] [Maximum Marks : 150

Note : This Paper contains Seventy Five (75) multiple choice questions, each

question carrying Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dsr ,dw.k ipgŸkj (75) cgqi;kZ;h iz'u fnysys vkgsr- izR;sd iz'ukyk nksu (2)
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3. Planning function in POSDCORB

means :

(A) Compilation of community

needs

(B) Co-ordination of community

needs

(C) Listing of priority community

needs

(D) Linking priority needs with

resource needs

4. Which of the following is the feature

of New Public Administration ?

(A) Promoting competition

(B) Converting Bureaucracy into

contractual working

(C) Bringing economy

(D) Social efficiency and

effectiveness

5. Public choice is predominantly :

(A) Theory of Economics

(B) Theory of Psychology

(C) Theory of Political Science

(D) Theory of Sociology

3. POSDCORB e/khy fu;kstu dk;kZpk vFkZ

vkgs %

(A) leqgkP;k xjtkapk laxzg

(B) leqgkP;k xjtkaps leUo;

(C) leqgkP;k izkFkfed xjtkaph lqph

(D) lalk/ku xjtka'kh izkFkfed xjtk&tksM.ks

4. uoyksdiz'kklukph [kkyhyiSdh dks.krs oSf'k"VÓ

vkgs \

(A) Li/kkZuk izksRlkgu ns.ks

(B) uksdj'kkghyk da=kVh dk;kZr ijhorhZr

dj.ks

(C) dkVdlj vk.k.ks

(D) lkekftd dk;Z{kerk vkf.k

ifj.kkedkjdrk

5. yksd fuoM eq[;rk vkgs %

(A) vFkZ'kkL=kpk flºkar

(B) ekul'kkL=kpk flºkar

(C) jkT;'kkL=kpk flºkar

(D) lekt'kkL=kpk flºkar
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6. NPM believes in the efficacy of

................................ to solve the

problem.

(A) Market mechanism

(B) Political dynamics

(C) N.G.O. functioning

(D) Civil society organization

7. The effect of ‘Re-inventing

government’ in practice is :

(A) restructuring

(B) rightsizing

(C) reducing

(D) debureaucratizing

8. Consider the following features :

(1) Organization is a social system

and management is a social

process

(2) Conflict is good for organization

(3) Psychological and social aspects

of management

Which of the following were

suggested by M.P. Follet ?

(A) (1) and (2)

(B) Only (1)

(C) (1) and (3)

(D) (1), (2) and (3)

6. leL;k lksMfo.;klkBh -------------------------P;k
izHkkof'kyrsoj uoyksd O;oLFkkiu fo'okl
Bsors-

(A) cktkj ;a=.kk

(B) jktdh; xrhekurk

(C) ,u-th-vks-ps dk;Zdyki

(D) lunh lsok la?kVuk

7. ^'kklukpk iqu'kksZ/k* ;kpk O;ogkjkrhy izHkko
vkgs %

(A) iqujZpuk dj.ks

(B) ;ksX; vkdkj ns.ks

(C) dikr dj.ks

(D) uksdj'kkghpk izHkko deh dj.ks

8. [kkyhy oSf'k"VÓkapk fopkj djk %

(1) laxBuk ,d lkekftd O;oLFkk vkgs
vkf.k O;oLFkkiu ,d lkekftd izfÿ;k
vkgs-

(2) la?kVusdjhrk la?k"kZ gh pkaxyh ckc vkgs-

(3) O;oLFkkiukps ekul'kkL=h; vkf.k
lkekftd iSyw

ojhyiSdh dks.krh oSf'k"VÓs ,e-ih- QkWysVus
lqpfoyh vkgsr \

(A) (1) vkf.k (2)

(B) QDr (1)

(C) (1) vkf.k (3)

(D) (1)] (2) vkf.k (3)
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9. Delegation should not go with :

(A) Ability of the subordinate

(B) Demand of the subordinate

(C) Need of the situation

(D) Jurisdiction

10. The formal organisation is

associated with :

(A) Human view

(B) Behavioural view

(C) Mechanistic view

(D) Social view

11. Which of the following is not a

feature of span of control ?

(A) Direction

(B) Control

(C) Co-ordination

(D) Supervision

9. izR;k;kstu ;kP;k lkscr tk;yk udks %

(A) vf/kuLFkkaph ;ksX;rk

(B) vf/kuLFkkaph ekx.kh

(C) ifjfLFkrhph ekx.kh

(D) dk;Z{ks=

10. vkSipkfjd la?kVu ;kP;k'kh fuxMhr vkgs %

(A) ekuoh n`f"Vdksu

(B) O;ogkjoknh n`f"Vdksu

(C) ;kafa=dh n`f"Vdks.k

(D) lkekftd n`f"Vdksu

11. fu;=a.k d{kk ;kph [kkyhyiSdh dks.krs

oSf'k"VÓ ukgh \

(A) funsZ'ku

(B) fu;a=.k

(C) leUo;

(D) i;Zos{k.k
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12. The problem of decision-making is

overcome by .................................... .

(A) the process of co-ordination

(B) the process of formalism

(C) the process of decentralization

(D) the process of delegation

13. Informal groups are not

characterised by :

(A) Unity

(B) Loyalty

(C) Accountability

(D) Instability

14. J.D. Mooney has placed ................. as

the ‘first principle’ of organization.

(A) Unity of command

(B) Hierarchy

(C) Delegation

(D) Co-ordination

12. fu.kZ; izfÿ;sph leL;kµ;k }kjs nwj djrk

;srs-

(A) leUo;kP;k izfÿ;s}kjs

(B) vkSipkfjdrsP;k izfÿ;s}kjs

(C) fodsaÊhdj.kkP;k izfÿ;s}kjs

(D) iznRrhdj.kkP;k izfÿ;s}kjs

13. vukSipkfjd leqg gsµ;kus oSf'k"Vhœr gksr

ukgh-

(A) ,drk

(B) fu"Bk

(C) mRrjnkf;Ro

(D) vfLFkjrk

14. ts-Mh- ewus ;kus ----------------------- ;kyk la?kVusps

^ifgys rRo* ekuys vkgs-

(A) vkKsph ,drk

(B) inlksiku

(C) izR;k;kstu

(D) leUo;
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15. Which of the following is not a

feature of traditional organization ?

(A) Internal control of work

(B) External control of work

(C) Centralized decision-making

(D) Decentralization decision-

making

16. “One wheel (alone) does not turn and

keep the cart in motion.” Which is

the other wheel in Kautilya’s

Arthashastra ?

(A) Amatya

(B) Army (Danda)

(C) Kosh

(D) Rajpurohit

15. [kkyhyiSdh dk; ikjaikfjd la?kVusps oSf'k"VÓ

ukgh \

(A) dk;kZoj varxZr fu;a=.k

(B) dk;kZoj ckgÓ fu;a=.k

(C) dsaÊhœr fu.kZ; izfÿ;k

(D) fodsaÊhr fu.kZ; izfÿ;k

16. fl,d pkd (,dVs) fQ: 'kdr ukgh vkf.k

xkMhyk xrheku d: 'kdr ukgh-fi dkSfVY;kP;k

vFkZ'kkL=kr nqljs pkd dks.krs vkgs \

(A) vekR;

(B) lsuk (naM)

(C) dks'k

(D) jktiqjksfgr
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17. Match List I with List II and

select the correct code from the given

below :

List I

(a) Yukta

(b) Samaharta

(c) Tatpurusa

(d) Adhyaksha

List II

(1) Preparation of annual budget

(2) Servant of the lowest level

(3) Head of department

(4) Incharge of Record-cum-Audit

office

Code :

(a) (b) (c) (d)

(A) 1 2 3 4

(B) 2 1 3 4

(C) 3 1 2 4

(D) 4 2 1 3

17. lqph-I yk lqph-II 'kh tksMk vkf.k [kkyhy

i;kZ;kiSdh ;ksX; i;kZ; fuoMk %

lqph I

(a) ;qDr

(b) legkrkZ

(c) rr~iq#"k

(d) v/;{k

lqph II

(1) okf"kZd vFkZladYi r;kj dj.ks

(2) [kkyP;k Lrjkpk deZpkjh

(3) foHkkx izeq[k

(4) vfHkys[k rlsp vads{k.k dk;kZy;pk

izHkkjh

i;kZ; %

(a) (b) (c) (d)

(A) 1 2 3 4

(B) 2 1 3 4

(C) 3 1 2 4

(D) 4 2 1 3
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18. The concept of Bounded Rationality

recognises the constraints on :

(A) Computational Ability

(B) Co-ordinating Skill

(C) Leadership Style

(D) Personal Relationships

19. ‘‘The concept of administrative and

economic man” is relevant in :

(A) Leadership

(B) Supervision

(C) Authority

(D) Decision making

20. Giving freedom in doing one’s work

and encouraging self direction and

self-development is the central

theme of philosophy of :

(A) Herbert Simon

(B) Abraham Maslow

(C) Douglas McGregor

(D) Rensis Likert

18. flehr rkdhZdrk gh ladYiuk ;k vMFkˇÓkyk

v/kksjs[khr djrs %

(A) x.kukRed {kerk

(B) leUo;kRed dkS'kY;

(C) usr`Ro 'kSyh

(D) oS;Drhd laca/k

19. ^^iz'kkldh; vkf.k vkfFkZd euq";** gÓk

ladYiukµ;klkBh lqlaxr vkgsr-

(A) usr`Ro

(B) i;Zos{k.k

(C) vf/klRrk

(D) fu.kZ;&izfÿ;k

20. ,[kknÓkyk R;kps dke dj.;klkBh Lokra= ns.ks

vkf.k Lo&funsZ'kukyk vkf.k Lo&fodklkyk

izksRlkgu ns.ks gh ;kP;k rRoKkukph /kkj.kk vkgs-

(A) gcZVZ lk;eu

(B) vczkge ekLyks

(C) Mx~yl eWdxzsxj

(D) jsUlhl fydVZ
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21. ‘Theory Y’ has positive assumption

because :

(1) Its emphasis on problem solving

(2) It is participative in nature

(3) Its emphasis on fault finding

(4) It is based on internal and self

control.

Select the correct code :

(A) Only (3)

(B) (1), (2) and (3)

(C) (1), (2), (3) and (4)

(D) (1), (2) and (4)

22. Citizen’s Charter is a mode of :

(A) Accountability for Government

decisions

(B) Quality Approach

(C) Guarantee against arbitrariness

(D) Transparency

23. According to Follett the key to

constructive conflict is :

(A) Avoidance

(B) Compromise

(C) Domination

(D) Circular Behaviour

21. flºkar ^ok;* e/;s ldkjkRed /kkj.kk x`ghr

vkgs] dkj.k %

(1) R;kpk Hkj leL;k lksMfo.;koj vkgs

(2) rs Lo:ikus lgHkkxkRed vkgs

(3) R;kpk Hkj =qVh 'kks/k.;koj vkgs

(4) rs varxZr vkf.k Lo&fu;a=.kkoj vk/kkfjr

vkgs-

;ksX; i;kZ; fuoMk %

(A) QDr (3)

(B) (1)] (2) o (3)

(C) (1)] (2)] (3) o (4)

(D) (1)] (2) o (4)

22. ukxjhdkaph lun gs lk/ku vkgs %

(A) 'kkldh; fu.kZ;kadjhrk mŸkjnkf;Ro

(B) xq.koŸkk n`f"Vdksu

(C) LosPNkpkfjrk ;kP;k fo#º geh

(D) ikjnf'kZrk

23. QkWysVP;k ers jpukRed la?k"kkZpk xkHkk vkgs-

(A) VkˇkVkˇ

(B) rMtksM

(C) opZLo

(D) orqŽ kdkj orZu
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24. vkRecks/kkph xjtµ;k'kh lacaf/kr ulrsµ

(A) Lo;aiqrZrk

(B) ekx.kh lek/kku

(C) ,[kkn~;kyk R;kP;k {kersph tk.kho gks.ks

(D) l`tukRedrk

25. tsOgk ,[kknÓkyk R;kps dk;Z vuq:i vf/klŸkk

vkf.k tckcnkjhus djrks] ;kyk QkWysV

Eg.krs %

(A) fLFkrh

(B) vf/klŸkk

(C) dk;kZRed ,drk

(D) ntkZ

26. flrqyukRed iz'kklu gh ,d ckSfºd izfÿ;k

vkgs th flºkarkP;k 'kks/kklkBh vkf.k O;ogkjhd

mi;ksxhrsP;k xjts'kh laca/khr vkgs-fi gs dks.k

Eg.kkys \

(A) foMuj

(B) fjXt

(C) Qsjy gsMh

(D) eksUVxksesjh

24. Self-actualization needs did not

related to ............................ .

(A) Self-fulfilment

(B) Demand satisfaction

(C) Realization of one’s potential

(D) Creativity

25. When one has his function along

with corresponding authority and

responsibility, Follett terms it as :

(A) Position

(B) Authority

(C) Functional unity

(D) Status

26. Who said that “Comparative

Administration is an intellectual

enterprise concerned with search for

theory and urge for practical

application ?”

(A) Weidner

(B) Riggs

(C) Ferrel Heady

(D) Montegomery
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27. Which of the following pairs is not

correctly matched ?

(A) New Public Administration —

Dwight Waldo

(B) Development Administration—

Edward Weidner

(C) Comparative Public

Administration—F.W. Riggs

(D) Administrative Development—

Robert Dahl

28. Which of the following in not a

feature of Classical theory ?

(A) Inefficiency

(B) Hierarchy

(C) Impersonality

(D) Specialization

29. The U.S. Civil Service Commission

was replaced by :

(1) Office of Budget Management

(2) Office of  Personnel

Management

(3) Civil Service Department

(4) Merit System Protection Board

Choose the correct code :

(A) (1) and (2)

(B) (2) and (3)

(C) (1) and (4)

(D) (2) and (4)

27. [kkyhyiSdh dks.krh tksMh gh ;ksX; tqˇr

ukgh \

(A) uo yksd iz'kkluµM~okbV okYMks

(B) fodkl iz'kkluµ,MoMZ foMuj

(C) rqyukRed yksd iz'kkluµ,Q-MCyw-

fjXt

(D) iz'kkldh; fodklµjkWcVZ <ky

28. [kkyhyiSdh dk; vfHktkr flºkarkps oSf'k"VÓ

ukgh \

(A) vdk;Z{kerk

(B) inlksiku

(C) voS;Drhdrk

(D) fo'ks"khdj.k

29. vesfjdu lunh lsok vk;ksx ;kdMwu cnyys

xš s %

(1) vFkZladYi O;oLFkkiu dk;kZy;

(2) deZpkjh O;oLFkkiu dk;kZy;

(3) lunh lsok foHkkx

(4) ;ksX;rk iºrh laj{k.k cksMZ

;ksX; i;kZ; fuoMk %

(A) (1) o (2)

(B) (2) o (3)

(C) (1) o (4)

(D) (2) o (4)
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30. The executive departments in U.S.

enjoy :

(A) Absolute power

(B) Highest formal status

(C) Uniformity

(D) Subordinate status

31. The office of ‘Parliamentary

Commissioner’ was set up on the

recommendation of :

(A) Priestley Report

(B) Fulton Report

(C) Whyatt Report

(D) Northcote-Treveleyn Report

32. The Chief Secretary of state does

not :

(A) Bring inter-departmentel co-

ordination

(B) Resolve internal differences

(C) Promote inter-agency co-

ordination

(D) Resolve inter-state disputes

30. vesfjdsrhy dk;Zdkjh foHkkx miHkksxrkr %

(A) fujis{k lŸkk

(B) mPp vkSipkfjd ntkZ

(C) le:irk

(D) v/khuLFk ntkZ

31. ^lalnh; vk;qDr* ;kps dk;kZy; ;kP;k

lqpuso:u LFkkiu >kys %

(A) fizLVys vgoky

(B) QqYVu vgoky

(C) okV~ vgoky

(D) ukWFkZdksV&VW™foyh;u vgoky

32. jkT;kpk eq[; lfpo gs djhr ukgh %

(A) vkarj&foHkkxh; leUo; fuekZ.k dj.ks

(B) vkarjhd erHksn nqj dj.ks

(C) vkarj&vfHkdj.k leUo; o`ºhaxr dj.ks

(D) vkarj&jkT; fookn lksMfo.ks
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33. Structural differentiation means :

(A) There are different structures in

the system

(B) Structures perform different

functions

(C) Structures are designed to

perform specific functions

(D) Structures are designed to

perform many functions

34. Modernization of bureaucracy is

indispensable in view of :

(A) Scientific challenges

(B) Technological Revolution

(C) Socio-economic challenges

(D) Human Resource Development

35. Development Administration is not

concerned with :

(A) Socio-economic transformation

(B) Nation-building

(C) Infrastructural development

(D) Water supply in a city

33. lajpukRed foHksnhdj.k Eg.kts %

(A) O;oLFkse/;s osxosxˇh lajpuk vl.ks

(B) lajpusuh osxosxyh dk;Z dj.ks

(C) fof'k"V dk;Z dj.;klkBh lajpuk r;kj

dj.ks

(D) vusd dk;Z dj.;klkBh lajpuk r;kj

dj.ks

34. uksdj'kkghps vk/kqfudhdj.kkP;k vuqlkj

vifjgk;Z vkgs %

(A) oSKkfud vkOgkus

(B) ra=KkukRed ÿkarh

(C) lkekftd&vkfFkZd vkOgkus

(D) ekuo lalk/ku fodkl

35. fodkl iz'kklu gs----------------;kaP;k'kh laca/khr

ukgh-

(A) lkekftd&vkfFkZd ifjorZu

(B) jk"V™ fuekZ.k

(C) ik;kHkwr lqfo/kkapk fodkl

(D) 'kgjkr ik.kh iqjoBk dj.ks
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36. The concept of Development

Administration was conceptualized

and elaborated by :

(A) Western Scholars

(B) Asian Scholars

(C) European Scholars

(D) Latin American Scholars

37. Who was the Founder Chairman of

the Comparative Public

Administration Group in USA ?

(A) Ferrel Heady

(B) F.W. Riggs

(C) Dwight Waldo

(D) Montgomery

38. Human development, equality, self-

reliance and participation are the

elements of :

(A) Learning-process approach

(B) People-centred approach

(C) Blue-print approach

(D) Production-centred approach

36. fodkl iz'kklu gh ladYiuk ;kauh ladYihr

vkf.k foLr`r dsyhµ

(A) if'peh vH;kld

(B) ,f'k;kbZ vH;kld

(C) ;qjksips vH;kld

(D) yWVhu vesfjdsps vH;kld

37. vesfjdsrhy rqyukRed yksd iz'kklu leqgkpk

laLFkkid v/;{k dks.k gksrk \

(A) Qsjy gsMh

(B) ,Q-MCyw- fjXt

(C) M~okbV okYMks

(D) eksUVxksesjh

38. ekuo fodkl] lerk] Lovoyacu vkf.k lgHkkx

gs ;kps ?kVd vkgsr µ

(A) f'k{k.k&izfÿ;k n`f"Vdksu

(B) tu&dsaÊhr n`f"Vdksu

(C) CywfizaV n`f"Vdksu

(D) mRiknu&dsaÊhr n`f"Vdksu
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39. Why is Prime Minister’s office

important ?

(A) Legacy of Secretary to the

Governor-General [Personal]

(B) Legacy of Secretary to Vice-

roy’s Council

(C) Includes senior civil servants in

the organization

(D) Includes secretaries to key

department

40. The ARC recommended

amalgamation of executive

organization with the secretariat if

it was of :

(a) Primarily Development

Character

(b) Actively involved in planning

co-ordinating and review of

developmental programmes

(c) If its frequent feedback is

essential for effective policy

making

(d) If the Prime Minister’s so

wished

Select the right code :

(A) (a), (b) and (c)

(B) (b), (c) and (d)

(C) (a), (c) and (d)

(D) (a), (b) and (d)

39. iariz/kku dk;kZy;kps dk egRo vkgs \

(A) xouZj tujy (O;Drhxr) yk lfpokpk

okjlk

(B) OgkbZljkW; dkSfUlyyk lfpokpk okjlk

(C) la?kVuse/;s ofj"B lunh lsodkapk lekos'k

(D) egRoiw.kZ foHkkxkaps lfpokapk lekos'k

40. tj lq/kkj vk;ksxkus dk;Zikfydh; foHkkxkps

lfpoky;kr lekos'ku d.;kph f'kQkjl dsyh]

rj rs dks.kR;k Lo:ikr jkghy-

(a) eq[;r% fodklkRed oSf'k"VÓ

(b) fodklkRed dk;Zÿekps fu;k stu]

leUo;u] vk<kok ;kapk lfÿ; lgHkkx

(c) tj izHkkoh /kksj.k fufeZrhlkBh lkrR;kus

ikBiqjkok ?ks.ks vko';d vlsy rj

(d) tj iariz/kkukph ethZ vlsy rj

;ksX; lafgrk fuoMwu ?ks.ks %

(A) (a), (b) o (c)

(B) (b), (c) o (d)

(C) (a), (c) o (d)

(D) (a), (b) o (d)
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41. The Ministry of Railways has the

following relationship pattern :

(A) Integrated

(B) Link officer

(C) Co-ordinated

(D) Ex officio Secretariat Status

42. UPSC does not recruits the

following :

(A) Railways senior officers

(B) IAS officers

(C) IFS officers

(D) Civil Services (Main)

43. Which of the following feature is not

of the Directorate ?

(A) It is mainly concerned with the

implementation of policy

(B) It is generally headed by

specialist

(C) It is primarily staff agency

(D) It has indirect contacts with the

ministers

41. jsyos ea=ky;kpk [kkyhyiSdh ,d laca/kkpk

uequk vkgs-

(A) ,dhœr

(B) lacaf/kr vf/kdkjh

(C) lefUor

(D) inflº lfpoky; ntkZ

42. la?k yksd lsok vk;ksx fuEufyf[krkph HkrhZ

djhr ukgh %

(A) jsyosps ofj"B vf/kdkjh

(B) vk;-,-,l- vf/kdkjh

(C) vk;-,Q-,l- vf/kdkjh

(D) lunh lsok (eq[;)

43. fuEufyf[krkiSdh funs Z'kuky;kph dks.krh

fo'ks"krk ukgh vkgs \

(A) rs eq[;r% /kksj.kkP;k fÿ;kUo;uk'kh

laca/khr vkgs

(B) lk/kkj.kr% fo'ks"kK ;kPkk v/;{k vlrks

(C) izkFkfedrk rs lYykxkj vfHkdj.k vkgs

(D) ;kpk ea´;k'kh vizR;{k laca/k vkgs
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44. The debate on adjournment motion

ends with :

(A) Voting

(B) No voting

(C) Veto of the Prime Minister

(D) Veto of the Speaker

45. Executive control over the

administration is a type of :

(A) External control

(B) Internal control

(C) Bureaucratic control

(D) Legal control

46. Departmental organisation is based

on :

(A) Purpose

(B) Process

(C) Function

(D) People

44. LFkxu izLrkokojhy ppkZ-----------------;kus lairs-

(A) ernku

(B) ernku u djrk

(C) iariz/kkukpk udkjkf/kdkj

(D) lHkkirhpk udkjkf/kdkj

45. iz'kklukoj dk;Zikyhdsps fu;a=.k gs ;k izdkjps

vkgs %

(A) ck· fu;a=.k

(B) varxZr fu;a=.k

(C) uksdj'kkgh fu;a=.k

(D) dk;ns'khj fu;a=.k

46. foHkkxh; la?kVu gs -----------------;koj vk/kkfjr

vkgs-

(A) mÌs';

(B) izfÿ;k

(C) dk;Z

(D) yksd
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47. The shape of distribution in mode

is :

(A) Symmetrical

(B) Skewed

(C) Multimodel

(D) Inferential

48. Which of the following is described

by ‘micro-cabinet, supra-authority,

super-cabinet and the Government

of the Government’ ?

(A) Prime Minister

(B) Prime Minister’s office

(C) Chief Secretary

(D) Cabinet Secretary

49. Administrative Staff College of

Hyderabad was developed on the

pattern of :

(A) Henley-on-Thames (UK)

(B) P.H. Appleby Recommendation

(C) ARC of India (First)

(D) All India Council for Technical

Education

47. ek/;e (Mode) ;krhy forj.kkpk vkdkj

vkgs %

(A) leizek.k

(B) fopfyr

(C) cgqek/;eh

(D) vkuqekfud

48. [kkyhyiSdh d'kkps ^lq{e ea=heaMˇ] mPprj

vf/klRrk] mPprj ea=heaMˇ vkf.k 'kklukps

'kklu* vls o.kZu dsys tkrs \

(A) iz/kkuea=h

(B) iz/kkuea=h dk;kZy;

(C) eq[; lfpo

(D) ea=heaMˇ lfpo

49. gSÊkckn ;sFkhy Á'kkldh; LVkWQ dkWyst ;kaP;k

iz:ikoj fodflr dj.;kr vk«s-

(A) gsUys&vkWu&FksEl (;q-ds-)

(B) ih-,p-vWiych vgoky

(C) Hkkjrkps ifgys iz'kkldh; lq/kkj vk;ksx

(D) vf[ky Hkkjrh; rkaf=d f'k{k.k ifj"kn
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50. Audit of Accounts of Central and

State Government is a part of :

(A) The State List

(B) The Union List

(C) Concurrent List

(D) Residuary Powers

51. Photo Identity cards for voters was

introduced  by :

(A) G.V.G. Krishnamurti

(B) T.N. Sheshan

(C) M.S. Gill

(D) Naveen Chawla

52. Assertion (A) : Promotion has

wider implications than

advancement

Reason (R) : Advancement involves

an increase in pay.

Answer the following questions by

using the codes given below :

Codes :

(A) Both (A) and (R) are true but

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not a correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

50. dsaÊ vkf.k jkT; ljdkjP;k ys[kkaps vads{k.k

;kpk Hkkx vkgs %

(A) jkT; lqph

(B) la?k lqph

(C) leorhZ lqph

(D) 'ks"kkf/kdkj

51. ernkjkalkBh Nk;kfp= vkš [k i= ;kauh lq#

dsys %

(A) th- Ogh- th- œ".keqrhZ

(B) fV- ,u- 'ks"ku

(C) ,e- ,l- xhy

(D) ufou pkoyk

52. fo/kku (A) % mUurhis{kk inksUurhyk O;kid

lwfpr vFkZ vkgs-

dkj.k (R) % ixkjkrhy o`ºh eq š mUurh gksrs-

[kkyh fnysY;k lafgrko:u mfpr i;kZ; fuoMk-

lafgrk %

(A) nksUgha (A) vkf.k (R) cjkscj vkgsr o

(R) gs (A) ps ;ksX; Li"Vhdj.k vkgs-

(B) nksUgha (A) vkf.k (R) cjkscj vkgsr ijarw

(R) gs (A) ps ;ksX; Li"Vhdj.k vkgs-

(C) (A) cjkscj vkgs ijarw (R) pwd vkgs-

(D) (R) cjkscj vkgs ijarw (A) pwd vkgs-
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53. Assertion (A) : Henry Fayol does

not make a distinction between

public and private administration.

Reason (R): All undertakings

require POCCC.

Answer the following questions by

using the codes given below :

(A) Both (A) and (R) are true but

(R) is correct explanation of (A)

(B) Both (A) and (R) are true but

(R) is not a correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

54. Zero-base Budgeting lays emphasis

on :

(A) Economic Planning

(B) Programme Priorities

(C) Budgetary Decentralisation

(D) Equal Allocation

55. PPBS is a convenient tool for :

(A) Capital works

(B) Welfare works

(C) Traditional projects

(D) Inter-state projects

53. fo/kku (A) % gsUjh Qs;kWy yksdiz'kklu o
[kktxh iz'kklukr Hksn djr ukgh-

dkj.k (R) % loZ miÿekalkBh ikWDd
(POCCC) vko';d vkgs-

[kkyhy ladsrk e/;s mfpr i;kZ; fuoMk %

(A) nksUgha (A) vkf.k (R) fo/kkus cjkscj vlwu
(R) fo/kku (A) fo/kkukps ;ksX; Li"Vhdj.k
vkgs-

(B) nksUgha (A) vkf.k (R) fo/kkus cjkscj vlwu
(R) fo/kku (A) fo/kkukps ;ksX; Li"Vhdj.k
ukgh-

(C) (A) fo/kku cjkscj vkgs i.k (R)

fo/kku pwd vkgs-

(D) (R) fo/kku cjkscj vkgs i.k (A)

fo/kku pwd vkgs-

54. 'kqU;k/kkjhr vFkZladYi d'kkoj Hkj nsrs \

(A) vkfFkZd fu;kstu

(B) dk;Zÿekuk izkFkfedrk

(C) vFkZladYih; fodsaÊhdj.k

(D) leku okVi

55. ih-ih-ch-,l- gs ;kdjhr ,d lks;hLdj
lk/ku vkgs %

(A) HkkaMoyh dk;sZ

(B) dY;k.kdkjh dk;sZ

(C) ikjaikfjd izdYi

(D) vkarj&jkT; izdYi
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56. The work for budget preparation and

follow up is entrusted with the

Ministry of Finance, because :

(A) It is assisted by Indian

Economic Services

(B) It is not a spending Ministry

(C) It is an implementing

machinery

(D) Finance is fuel for

Administration

57. Which of the following is the

disadvantage of sampling method ?

(A) Savings of time

(B) Savings of money

(C) Accuracy of result

(D) Need for specialised knowledge

58. A systematic study of a particular

community or a group or an

institution is made by :

(A) Case study method

(B) Survey method

(C) Field study method

(D) Experimental method

56. vFkZladYi fufeZrh vkf.k R;kpk ikBiqjkok gs

dk;Z vFkZea=ky;kyk fnys vkgs- dkj.k %

(A) Hkkjrh; vkfFkZd lsok ;kyk lgk∏; djrs

(B) gs O;; ea=ky; ukgh vkgs

(C) gs fÿ;kUo;u dj.kkjh ;a=.kk vkgs

(D) foŸk iz'kklukps ba/ku vkgs

57. uequkdj.k iºrhph [kkyhyiSdh dk; nks"k

vkgs \

(A) oš sph cpr

(B) iS'kkph cpr

(C) ifj.kkekph vpwdrk

(D) fof'k"V Kkukph vko';drk

58. ,[kknÓk fof'k"V laLFkspk fdaok xVkpk fdaok

leqnk;kpk O;oLFkhr vH;kl ;k}okjs dsyk

tkrks %

(A) O;"Vh v/;;u iºrh

(B) losZ{k.k iºrh

(C) {ks= v/;;u iºrh

(D) iz;ksxkRed iºrh
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59. Formal Interviews are :

(A) Uncontrolled

(B) Intensive

(C) Unstructured

(D) Complicated

60. The first Municipal Corporation was

set up in :

(A) Calcutta

(B) Madras

(C) Lucknow

(D) Bombay

61. The credit for creating the office of

District Collector goes to :

(A) Robert Clive

(B) Warren Hastings

(C) Lord Elphinston

(D) Lord Mayo

59. vkSipkfjd eqyk[krh vkgsr-

(A) vfu;af=r

(B) l?ku

(C) vlajpukRed

(D) tfVy

60. ifgY;k egkuxjikfydsph LFkkiuk dqBs dj.;kr

vkyh \

(A) dydRrk

(B) eÊkl

(C) y[kukS

(D) ckWEcs

61. ftYgkf/kdkÚ;kP;k dk;kZy;kP;k LFkkiusps Js;

;kauk tkrs %

(A) jkcVZ DykbZOg

(B) okjsu gsLVhaXt

(C) ykWMZ ,yfQaLVu

(D) ykWMZ es;ks
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62. In Disinvestment ‘Strategic Sale’

means :

(A) Sale at fixed price

(B) Transfer of management control

(C) Lease out management control

(D) Sale of units

63. Which of the following organisation

is not headed by the District

Collector ?

(A) Revenue Administration

(B) Jail Administration

(C) Development Administration

(D) Treasury Administration

62. fuxq±ro.kqdhdj.kkr ^O;wgkRed foÿ; furh*

Eg.kts %

(A) fuf'pr fdaerhyk foÿh

(B) O;oLFkkiu fu;a=.kkps LFkkukarj

(C) O;oLFkkiu fu;a=.kkyk HkkMÓkus ns.ks

(D) ;qfuV~lph foÿh

63. [kkyhyiSdh dks.krs la?kVu gs ftYgk&

f/kdkÚ;kP;k v/;{krs [kkyh ;sr ukgh \

(A) eglwy iz'kklu

(B) rq#ax iz'kklu

(C) fodkl iz'kklu

(D) jktdks"k iz'kklu
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64. In the wake of 73rd and 74th

Constitutional Amendment Acts the

development role of Collector has

become :

(A) More powerful

(B) Accountable without power

(C) Ceremonial

(D) Motivational

65. The Collector’s role in Development

Administration envisages his role

as :

(A) Adviser

(B) Observer

(C) Leader

(D) Co-ordinator only

64. 73oh o 74oh ?kVuk nq#Lrh dk;n~;kewˇs

ftYgkf/kdkÚ;kph fodklkRed Hk wfedk

vf/kd----------------- cuyh vkgs-+

(A) 'kDrh'kkyh

(B) vf/kdkjkf'kok; mRrjnkf;Ro

(C) 'kksHksph

(D) izsj.kkRed

65. fodkl iz'kklukrhy ftYgkf/kdkÚ;kph Hkwfedk

R;kyk ------------------------ gh Hkwfedk iznku

djrs-

(A) lYykxkj

(B) fujh{kd

(C) usrk

(D) QDr leUo;kRed
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66. Match List I with List II and

choose the correct code given below :

List I

(a) Santhanam Committee

(b) R.R. Diwakar Committee

(c) L.M. Singhvi Committee

(d) Sarkariya Commission

List II

(i) Report on Gram Sabha

(ii) Report on Union-State

Relations

(iii) Report on Panchayati Raj

Election

(iv) Report on Rural-Urban

Relations

(v) Report on Rejuvenation of

Panchayati Raj

Code :

(a) (b) (c) (d)

(A) (i) (ii) (iii) (iv)

(B) (iii) (i) (v) (ii)

(C) (v) (iii) (ii) (i)

(D) (ii) (iii) (v) (iv)

66. lqph I 'kh lqph II tqˇok vkf.k [kkyhyiSdh

;ksX; i;kZ; fuoMk %

lqph I

(a) laFkkue lferh

(b) vkj-vkj- fnokdj lferh

(c) ,y-,e- fla?koh lferh

(d) ljdkjh;k vk;ksx

lqph II

(i) xzkelHks laca/kh vgoky

(ii) dsaÊ&jkT; laca/kkoj vgoky

(iii) iapk;rh jkt fuoM.kwdhoj vgoky

(iv) xzkeh.k&'kgjh laca/kkoj vgoky

(v) iapk;rhjkt iqu#Tthou vgoky

i;kZ; %

(a) (b) (c) (d)

(A) (i) (ii) (iii) (iv)

(B) (iii) (i) (v) (ii)

(C) (v) (iii) (ii) (i)

(D) (ii) (iii) (v) (iv)
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67. The main difficulty in district

planning in Panchayati Raj is :

(A) Inadequate own resources

(B) Inadequate data base

(C) Weak technical input

(D) Little control over planning cell.

68. Dr. Durgabai Deshmukh Award for

development is given to :

(A) A women

(B) Voluntary organisation

(C) Dept. of Women and Child

Development

(D) Ministry of Health and Family

Welfare

69. In the State Social Welfare Board,

each district is represented

through :

(A) Senior Government official

(B) MLA

(C) Voluntary social worker

(D) Collector

67. iapk;rh jkte/khy ftYgk fu;kstukrhy gh eq[;

vMp.k vkgs %

(A) viqjh Lo&lalk/kus

(B) viqjh ekfgrh

(C) dedqor rkaf=d vknku

(D) fu;kstu d{kkoj vYi fu;a=.k

68. fodklkdjhrk MkW- nqxkZckbZ ns'keq[k iqjLdkj

;kauk fnyk tkrks %

(A) efgysyk

(B) Lo;alsoh la?kVuk

(C) efgyk o ckydY;k.k foHkkx

(D) LokLF; o ifjokjdY;k.k ea=ky;

69. jkT; lekt dY;k.k eaMˇkr --------------------

;k}kjs izR;sd ftYgÓkyk izfrfuf/kRo fnys tkrs-

(A) ojh"B 'kkldh; vf/kdkjh

(B) vkenkj

(C) LosfPNd lkekftd dk;ZdrkZ

(D) ftYgkf/kdkjh
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70. Match List I with List II and

select the correct code given

below :

List I

(a) Samaj Kalyan Chetna Parv

(b) Vikas Parv

(c) Women Empowerment Parv

(d) Pehchan Parv

List II

(1) Voluntary organisation

(2) Public opinion

(3) Social change

(4) Women health

Code :

(a) (b) (c) (d)

(A) (2) (3) (4) (1)

(B) (3) (2) (1) (4)

(C) (1) (2) (3) (4)

(D) (1) (2) (4) (3)

70. lqph I 'kh lqph II tqˇok vkf.k [kkyh

fnysY;k i;kZ;kiSdh ;ksX; i;kZ; fuoMk %

lqph I

(a) lekt dY;k.k psruk ioZ

(b) fodkl ioZ

(c) efgyk l'kDrhdj.k ioZ

(d) igpku ioZ

lqph II

(1) Lo;alsoh la?kVuk

(2) yksder

(3) lkekftd ifjorZu

(4) efgyk LokLF;

i;kZ; %

(a) (b) (c) (d)

(A) (2) (3) (4) (1)

(B) (3) (2) (1) (4)

(C) (1) (2) (3) (4)

(D) (1) (2) (4) (3)
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71. Which form of public enterprise is

commented upon as ‘a child of state

which grows into maturity as soon

as it is born.’

(A) Department

(B) Company

(C) Corporation

(D) Commission

72. The main objective of conferring

Maharatna, Navratna and

Miniratna status to Central Public

Sector Enterprises is :

(A) To provide them greater

autonomy

(B) To provide them more financial

resources

(C) To provide them managerial

assistance

(D) To provide them administrative

assistance

71. yksd m|ekP;k dks.kR;k izdkjklkBh vls EgVys

vkgs dh fljkT;kp vlk dks.krs ewy vkgs] dh

tks tUer% p ifjiDo gksrsfi-

(A) foHkkx

(B) eaMˇh (daiuh)

(C) fuxe

(D) vk;ksx

72. dsaÊh; yksd mn~;ekuk egkjRu] uojRu vkf.k

feuhjRu ntkZ iznku dj.;kpk eq[; mn~ns';

vkgs %

(A) R;kauk vf/kd Lok;Ÿkrk iznku dj.ks

(B) R;kauk vf/kd vf/kd fofRr; Úksr

miyC/k dj.ks

(C) R;kauk O;oLFkkidh; lgk∏;rk iznku dj.ks

(D) R;kauk iz'kkldh; lgk∏;rk iznku dj.ks
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73. The objective of MGNREGA is to

enhance :

(A) Livelihood security

(B) Educational level

(C) Housing facilities

(D) Health facilities

74. A shift to market economy from

planned economy was aimed at

by :

(A) Third Five Year Plan

(B) Fifth Five Year Plan

(C) Eighth Five Year Plan

(D) Tenth Five Year Plan

75. The main focus of which plan was

on ‘Inclusive Growth’ ?

(A) Xth Five Year Plan

(B) XIth Five Year Plan

(C) IInd Five Year Plan

(D) Vth Five Year Plan.

73. eujsxkps mn~ns'; gs o`ºhxr dj.ks vkgss-

(A) thou;kiukph lqj{kk

(B) 'kS{kf.kd ntkZ

(C) vkokl lqfo/kk

(D) LokLFk lqfo/kk

74. fu;k sthr vFk Z O;oLFk sdMwu cktkj

vFkZO;oLFksdMs cnykpk mn~ns'; ;kr gksrs %

(A) rhljh iapokf"kZd ;kstuk

(B) ikpoh iapokf"kZd ;kstuk

(C) vkBoh iapokf"kZd ;kstuk

(D) ngkoh iapokf"kZd ;kstuk

75. dks.kR;k ;kstuspk eq[; jks[k ^lok±xh.k

fodklkoj* gksrk \

(A) ngkoh iapokf"kZd ;kstuk

(B) vdjkoh iapokf"kZd ;kstuk

(C) nqljh iapokf"kZd ;kstuk

(D) ikpoh iapokf"kZd ;kstuk
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Paper-III

PUBLIC ADMINISTRATION

FEB - 21313

M
Test Booklet No.

iz'uif=dk ÿ-

Instructions for the Candidates
1. Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.
2. This paper consists of 75 objective type questions. Each question

will carry two marks. All questions of Paper-III will be compulsory,
covering entire syllabus (including all electives, without options).

3. At the commencement of examination, the question booklet
will be given to the student. In the first 5 minutes, you are
requested to open the booklet and compulsorily examine it as
follows :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

4. Each question has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below on
the correct response against each item.
Example : where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.

6. Read instructions given inside carefully.
7. Rough Work is to be done at the end of this booklet.
8. If you write your Name, Seat Number, Phone Number or put

any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you  will render yourself liable to disqualification.

9. You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table, etc., is prohibited.
12. There is no negative marking for incorrect answers.

A B D

fo|kF;k±lkBh egŸokP;k lwpuk
1. ifj{kkFkh±uh vkiyk vklu ÿekad ;k i`"Bkojhy ojP;k dksiÚ;kr fygkok-

rlsp vki.kkal fnysY;k mŸkjif=dspk ÿekad R;k[kkyh fygkok-
2. lnj iz'uif=dsr 75 cgqi;kZ;h iz'u vkgsr- izR;sd iz'ukl nksu xq.k

vkgsr- ;k iz'uif=dsrhy loZ iz'u lksMfo.ks vfuok;Z vkgs- lnjps iz'u
gs ;k fo"k;kP;k laiw.kZ vH;klÿekoj vk/kkfjr vkgsr-

3. ijh{kk lq: >kY;koj fo|kF;kZyk iz'uif=dk fnyh tkbZy- lq#okrhP;k 5
feuhVkae/;s vki.k lnj iz'uif=dk m?kMwu [kkyhy ckch vko'; riklwu
igkO;kr-
(i) iz'uif=dk m?kM.;klkBh iz'uif=dsoj ykoysys lhy m?kMkos-

lhy ulysyh fdaok lhy m?kMysyh iz'uif=dk fLodk: u;s-
(ii) ifgY;k i`"Bkoj uewn dsY;kizek.ks iz'uif=dsph ,dw.k i`"Bs

rlsp iz'uif=dsrhy ,dw.k iz'ukaph la[;k iMrk w̌u igkoh-
i`"Bs deh vlysyh@deh iz'u vlysyh@iz'ukapk pwdhpk
ÿe vlysyh fdaok brj =qVh vlysyh lnks"k iz'uif=dk
lq#okrhP;k 5 fefuVkrp i;Zos{kdkyk ijr ns≈u nqljh
iz'uif=dk ekxowu ?;koh- R;kuarj iz'uif=dk cnywu
feˇ.kkj ukgh rlsp oš gh ok<owu feˇ.kkj ukgh ;kph œi;k
fo|kF;k±uh uksan ?;koh-

(iii) ojhyizek.ks loZ iMrkˇwu ifgY;kuarjp iz'uif=dsoj
vks-,e-vkj- mŸkjif=dspk uacj fygkok-

4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh pkj fodYi mŸkjs fnyh
vkgsr- R;krhy ;ksX; mŸkjkpk jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks
dkˇk@fuˇk djkok-
mnk- % tj (C) gs ;ksX; mŸkj vlsy rj-

5. ;k iz'uif=dsrhy iz'ukaph mŸkjs vks-,e-vkj- mŸkjif=dsrp n'kZokohr-
brj fBdk.kh fyghysyh mŸkjs riklyh tk.kkj ukghr-

6. vkr fnysY;k lwpuk dkˇthiwoZd okpkO;kr-
7. iz'uif=dsP;k 'ksoVh tksMysY;k dksÚ;k ikukojp dPps dke djkos-
8. tj vki.k vks-,e-vkj- oj uewn dsysY;k fBdk.kk O;frjh‰ brj dksBsgh

uko] vklu ÿekad] Qksu uacj fdaok vkš [k iVsy v'kh dks.krhgh [kw.k
dsysyh vk< w̌u vkY;kl vFkok vlH; Hkk"kspk okij fdaok brj xSjekxk±pk
voyac dsY;kl fo|kF;kZyk ijh{ksl vik= Bjfo.;kr ;sbZy-

9. ijh{kk laiY;kuarj fo|kF;kZus ew̌  vks-,e-vkj- mŸkjif=dk i;Zos{kdkadMs
ijr dj.ks vko';d vkgs- rFkkih] iz'uif=dk o vks-,e-vkj- mŸkjif=dsph
f}rh; izr vkiY;kcjkscj us.;kl fo|kF;k±uk ijokuxh vkgs-

10. Q‰ fuˇÓk fdaok dkˇÓk ckWy isupkp okij djkok-
11. dWyD;qysVj fdaok ykWx Vscy okij.;kl ijokuxh ukgh-
12. pqdhP;k mŸkjklkBh xq.k dikr dsyh tk.kkj ukgh-

A B D
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